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Q1. Solve mentally and write the answers.

a. A rickshaw has 3 wheels, 8 rickshaws will have wheels.
b. A cow has 4 legs. 100 cows will have legs .
c. A bus can carry 50 passengers. 20 buses can carry passengers.

d. Reema wants to buy 3 kg of potatoes for Rs 30 and 4 kg onions Rs 40 . She
will needRs

e.Seema bought a book of 90 pages. She reads 25 pages. How many pages
are left to be read ?

f.A table costs T 3000. The cost of 5 tables will be

Q2. Solve and write the answers.

a. 10 less than 745
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b. 1 more than 1000

¢. Number which comes exactly between 500 and 700

d. 100 less than 1000

e.500 more than 550

Q3.What numbers can you make using digits 2, 5 and 7 ? (Do not repeat
any digit)
a. Write the numbers you made.

b.Write the biggest number you made.

c.Write the smallest number you made.

d.What is the sum of the biggest and the smallest numbers?

e.What is the difference of biggest and smallest number?

Q4. Answer the following.

a. A bus takes 10 minutes to refill. Ram takes as much time to take bath as one
bus is taking to refill. So Ram takes minutes to take bath.

b. A number becomes double if it is increased by 9. So, is the number.
C. number is divisible by 2,3 and 4. (16/12/15)
d. comes exactly between 600 and 800.

e.Make 3-digit numbers using the digits 1, 8 and 9.
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f. A number becomes double if it is increased by 4. What is that number?

g. A bus can carry 72 passengers. How many passengers do 8 buses carry?

h.A bus can carry 60 passengers. How many buses are needed to carry 360

passengers?

Q5. Solve.
a.The length of a bridge is 500 m. How many buses can stand in a line ,

If the length of the bus is 5m?

b.In a school , 300 children went on a picnic. Each child was given 1 apple and
3 biscuits. 20 children did not take apples. How many apples and biscuits were
distributed?

c. 250 students went on a picnic. Each student was given 4 toffees and 2
bananas. 27 students did not take bananas. How many toffees and bananas
were distributed?
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d. There were 625 deer and 120 tigers in a forest. How many more deer

were there than tigers?

e.There were 134 deer and 408 bisons in a forest. How many animals were there
in all?

f. A parking lot is 60 m long. How many cars of 3 m can be parked in that

area ?

g. The cost of toy train ride is Rs 50.0ne group of children paid Rs 200

in total.How many children went for the toy train ride ?

4/4



